Problem Solving Challenges

Problem One Problem Two

Maisie the mouse Kieron's cats

Maisie had between
30 and 50 breadcrumbs.

Kieron has three cats.
Each is a different weight.

The first and second weigh 7 kg altogether.
The second and third weigh 8kg altogether.
The first and third weigh 11kg altogether.

What is the weight of each cat?
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She counted the breadcrumbs in fours.
There were 2 left over.

She counted them in fives.
There was 1 left over.

How many breadcrumbs did Maisie have?




Multiplication Challenge

Timed Multiplication Challenge!

Complete 1 a day — time yourself each day.

Which day can you complete it quickest and most accurately?
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